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BT ERREL
- - e - - e
BRE | ARE  APAR | SEAE BRE | ARE  APAR | SEAK
20194 32[H] 29 27 93.1 77.5 201445 28[H] 40 37 92.5 91.2
20204 33[A] 30 29 96.7 82.1 20154 29[A] 60 60 100.0 95.4
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TOEIC - TOEIC-IP(600 4 70055 %) 3 4 TOEIC - TOEIC-IP(600 55X _£700 5 53%) 1 1 4
TOEIC - TOEIC-IP(700 &5 L4 _£800 s 5K7) 1 1 TOEIC - TOEIC-IP(700 51X _£800 s 5 i)
TOEIC - TOEIC-IP(800 £ 4 900 5 5 %) TOEIC - TOEIC-IP(800 54 £900 5 5 3i%) 1
TOEIC - TOEIC-IP(9005 14 ) TOEIC - TOEIC-IP(900 &4 k) 1
20135 201445

M E M| E [ B =t
TOEIC - TOEIC-IP (500 &5 %) 5 TOEIC - TOEIC-IP(500 s &) 1 1 3
TOEIC - TOEIC-IP(500 £ 600 £ 5 %) 1 5 TOEIC - TOEIC-IP(500 514 _£600 5 5 3%) 1 1 6
TOEIC - TOEIC-IP(600 5 L4 _£700 5 5K5) 1 3 TOEIC - TOEIC-IP(600 &L _£700 &5k 5) 1 1
TOEIC - TOEIC-IP(700 £ 800 £ 5 %) 2 TOEIC + TOEIC-IP(700 54 80055k %)
TOEIC - TOEIC-IP(800 /14 _£900 &= ki) 1 TOEIC - TOEIC-IP(800 &1 900 s 5K i#5)
TOEIC - TOEIC-IP(9005 14 +) TOEIC - TOEIC-IP(900 514 1)
20155 20164

M E M| E [ B £t
TOEIC - TOEIC-IP(500 & 5 %) 1 6 TOEIC - TOEIC-IP(500 & 5&%) 1 1 6
TOEIC - TOEIC-IP(500 £ 4 _E600 24 55) 1 6 TOEIC - TOEIC-IP(500 514 _£600 & 5 %) 1] 2 1 1 8
TOEIC - TOEIC-IP(600 £ £700 55 %) 1 2 TOEIC - TOEIC-IP(600 5 _£700 5 53%) 2 2 4
TOEIC - TOEIC-IP(700 &4 800 & 5k3) 1 3 TOEIC - TOEIC-IP(700 &4 £800 & 5k5%) 1 1
TOEIC - TOEIC-IP(800 £ 14 900 & 5 %) TOEIC + TOEIC-IP(800 54 9005 5K %) 1 1
TOEIC - TOEIC-IP(900& 14 ) 1 TOEIC - TOEIC-IP(900 &4 k) 1 1
20174 20184 &

M 5 M| E [ B 5
TOEIC - TOEIC-IP (500 &5 %) 2 6 TOEIC - TOEIC-IP(500 g2 3k#) 1 3 9
TOEIC - TOEIC-IP(500 £ 600 £ 5 %) 1 6 11 TOEIC - TOEIC-IP(500 54 £600 5 5 3%) 201 4 10 23
TOEIC « TOEIC-IP(600 &4 _E700 &5 5) 3 11 TOEIC - TOEIC-IP(600 & L4 L7005k 5) 2 3 5 3 16
TOEIC - TOEIC-IP(700 514 800 & 5 %) 2 1 4 TOEIC - TOEIC-IP(700 5 8005 55#) 2 1 2 5
TOEIC - TOEIC-IP(800 L4 9005 % %) 1 1 2 TOEIC - TOEIC-IP(800 &4 900 & 53#)
TOEIC - TOEIC-IP(9005 14 1) 1 2 TOEIC - TOEIC-IP(900£ 14 +)




42 TOEICHIBiRIR (EER)

20195 & 2020EE

M D|/V R B B [ 5
TOEIC « TOEIC-IP(500 &15k3%) 2 4 201 3 14 TOEIC - TOEIC-IP(500 5 5k3%) 8 24
TOEIC - TOEIC-IP(500 & L4 600 &5 5K 5 4 2 4 3 1 7 24 TOEIC - TOEIC-IP(500 5 L4 6005 5 3%) 8 20
TOEIC - TOEIC-IP(6005 L L7005 %% 3 6 3 2/ 3 11 34 TOEIC - TOEIC-IP(600 &4 7005 5k54) 2 19
TOEIC - TOEIC-IP(700 & £800 & 5k i 1 1 4 TOEIC - TOEIC-IP(7005 L £800 5 5 3%) 1 2
TOEIC - TOEIC-IP(800 5L 9005 k% 1 1 TOEIC - TOEIC-IP(800 s34 900 55 7 i) 1
TOEIC - TOEIC-IP(9005 1L 1) 1 1 1 3 TOEIC - TOEIC-IP(900 &4 )
20215

M D/V| R B 5
TOEIC - TOEIC-IP(500 &5 5 %) 4 30 31 3 23
TOEIC + TOEIC-IP(500 2 L4 £ 600 s K i 1 6 3 2 1 15
TOEIC - TOEIC-IP(600 & L _£700 & 5K 5% 1 1 4 4 1 2 21
TOEIC - TOEIC-IP(700 & L _£800 &5 5k i 2 1 3
TOEIC - TOEIC-IP(800 & L £900 & 5k

(

TOEIC - TOEIC-IP(9005 14 )
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